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Algebra 2 End of the Year Final review worksheet #4

1. Brittany throws a ball upward from a height of 3 feet above the ground with an initial velocity of 5 ft./sec. Using the formula 
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, where 
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 is the height of the ball after t seconds, v is the initial velocity, and s is the height of the ball when it is thrown, how many seconds will it take for the ball to hit the ground?

2. Describe the translation:
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3. How does the graph of 
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 compare to the parent function 
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4. How does the graph of 
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5. Given 
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and a vertex of 
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, find the standard form of this parabolic function.

6. A certain radioactive element decays over time according to the equation  y=
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where A = the number of grams present initially and t = time in years. If 500 grams were present initially, how many grams will remain after 10 years?

7. Which of the following is equivalent to 
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8. Solve for x:
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9. Are the following statements always, sometimes, or never true?

A. Any value for x can be used in 
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B. 
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C. 
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10. Which of the following equations of a circle, after completing the square, is equivalent to 
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A.
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B. 
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C.
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D.
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11. How many ways can a four person committee can be made up from 7 persons?  

12. What is the probability that exactly three heads will appear when four fair coins are tossed?  

13. How many ways can a Captain and Co-captain be selected from a group of 6 students?  

14. Given the following data, which has the largest variance?


A.
{21, 22, 23, 24}


B.
{100, 200, 300, 400}


C.
{30, 30, 30, 30}

D. 
{480, 481, 482, 483}

15. Given the following data, which has the smallest standard deviation?

A.
{21, 22, 23, 24}


B.
{100, 200, 300, 400}


C.
{30, 30, 30, 30}

D. 
{480, 481, 482, 483}

16. If 
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17. Given the sequence 5, 10, 20, … find 
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18. In the sequence -5, 0, 5, 10, 15, … what is the value of the 10th term?
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